mean # PXL hits vs eta

<pixel hits> [

w
|||
:+
H

——
i

N

a1

[T T 11
+

T

'_\
a1
T T T I T T T T T T T 1T
*a
E

LI
—

o
4
|

QT

0.95
= 3

n

mean # PXL Layers with measurement vs eta

w

N
()

IIII|IIII|IIII_|_IIII|IIII|IIII|II

<pixel layers> [

15

T

0.95

mean # STRIP hits v

e

<strip hits> [

%39%% 1000evt

B M:L:?tigici];gi;ggi&ég\o}j[veuur_1uuuevt
: MJ itk
|

=

(o))
!
M

H
2

nas
w
-
#

[ERN
N
[
E+
lé-
s
»
"

10 ter v I e

0.95

=
g
I

<strip layers>
w
E 3

0.95




	Contents
	Page 1


